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1. ﬂaﬂz’hcﬂﬂ@ﬁz’))ab@ﬁﬁ;ﬁé AL A E b T 3. 7
%%%‘L %ﬁi‘é Lox gz U\T/Q%_ I Find the hypotenuse of the following right triangle.
2 = o
Answer when you make a figure combining right-angled triangles R Bl AL
whose hypotenuse is ¢ and whose other sides are a and b. & A E
v bA WD
D b R — a—_C
= 4 8
! x? = 3447
| = 94 76=25
x>0 &
WA e WA
(1)AABQ@E$*%:JW>;E (1)AAPS@E%*%:JW’>;E x= 25 =5
Find the area of triangle ABQ.
axb =2
¥ LrohlShholl fein (AR
_ 4. KO A=MEomS(A o)z RD RS 0,
2 Find the height of the following right triangle.
WA WhEE b av D bAED
(2)DABCD@ﬁﬁ%zk&>;t (2)TABCD O [f i % R b X, 151 RE R
Find the area of square ABCD. 925 J 2
cXec=c A o4 A oa
A E A E 252: x2+ 242
(3)JPQRS @ﬁﬁ%:k&b;t (3)JPQRS @ﬁﬁ%:k&b;t
Find the area of square PQRS. JCZ _ 252* 242
(a—b)x{a—0) = 625—574
_ 2
‘( a - b) = 49
@ D,@,3&0, 2z |[DD,Q,Q)L0, &%
Lh bbb bh bbb
a, b H\T £, a, b #HW\WT £+, x >0 &9
Express c2 using a and b
from (1), (2), and (3). X = 49 =_7_
¢’ :(a —b )2 +
ekl brom Ehinold L/ T~
; 5. KO f1 = AT DD & KD RS,
Ta bx 4 Find the base of the following isosceles right triangle.
av D bAED
i R
L =alt b
41 r‘g
. . T ERTA (ORI mm‘\
2. B2 IAT AR EEHRT D K 2ERE L,
Make a table that creates the Pythagorean numbers. X
n 2 n n? — 1 n? + 1 29°= 217+ &
2% 2 22— 1 22 +1
9 p 3 s x? = 29*—27*
2x3 321 32+ 1 A
3
= 400
4
x>0 &
5 X = 4400 =20
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1. $+Jﬂ7b>cf1ﬂ@7775>a b H A=A eMHrEabET 3. kD HE A= Z@a@raﬂ%?k&)iﬁéb\
%%%‘%%ﬁ_ﬁé L Xz OU\Téz r. Find the hypotenuse of the following right triangle.
Answer when you make a figure combining right-angled triangles R Bl AL
Whoseyhypotenuse is ¢ and whose other sides are a and b. & A E
i i —
L o g L o g B A y \/7_ y 24
(1) U472 ABCD o i i % (1) @ﬁafbABCD@ i &
L /:om/ At & bbb 3 5
I 7 PQRS @ [ fH & c%“:ﬁﬁb\fi%ﬂi’
éj/mv»(i; 2 S ¢ ) a2 2
450 =0 EE O D —©—_ c w2 = 3+ (7))
b b
e LTRD &, = 947=16
¢ s a\q |c
" \a |¢
A
______ x>0 &
A— c— B
x= V5 =4
o Lrohl kol W~ A
4. KO A=fEomS(A o)z R0 RS 0,
Find the height of the following right triangle.
av D bAED
i R
10 17
Fuo Eh o + m/\ oF . x x
2 (1)@.31‘/@ ﬁﬂ‘/ Q2 WO EZRD X5 I A 3 A 15
0 < i
YK@J:i ’%@be:o AR R T,
A E A E /02: x2+ (5>2
miE % a, bfi%ﬂi’ Mm%z a, bfi%ﬂi‘
,,,,,,,,,,,,,,,,,,, a b x2 = 70%—¢§?
®
b a _
bl o = 700—64
® b
= 36
‘a a | T a-— b
| /@ x>0 LY
............ a— b
x= V3 =6
(a + b)
@, 2L, 2% a, b |1, QLV, 2% a b 5. ??@Bﬁ°%%%‘%@ﬁéiﬁ%*&)@ém
& %})EH) WT h%bﬂi’ ° & %})EH) ANE %%bﬂi‘o Find the base of the following isosceles right triangle.
2 av D bAED
¢ +2 ab = (a+b) il R
2 = b)'—2 ab
c (a + ) a 7 5 5 3
Ll =dl b
X X
. ?’/5 LRGN ) nht 2 2 2
2. CH AT AMENRT D £ &R L, 7= xS
Make a table that creates the Pythagorean numbers. ) 9 9
xc = 7°=5
) n 2 n 2
() | (—5-) —1 (—5—) +1 e
4 (%)2*1: 3 (%)2+1: 5 = 94
6 \2 6 \2
6 (&) -1~ (&) +1= x>0 &
8 x= Vo = 2k
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1. ?41275)0{141@7375>a bD HE =M xillirdtbE T 3. 7
%%‘# % ﬁ_f BEXIZoNT /@ > I Find the hypotenuse of the following right triangle.
2 = o
Answer when you make a figure combining right-angled triangles R Bl AL
whose hypotenuse is ¢ and whose other sides are a and b. & A E
bA RN
[l
- Y B Y/ VR0
D C
R / 2 4
S\« a-\ . o2 2
c‘\ a - Q c X 2 + (‘ 5 )
o/
\"r / = 4+5=9
A _________________________________ B
Cc
x>0 &7
Wh o E WA - -
(DAAPS@E?F*%ZK&DJ: (l)AABQ@ﬁﬁ%Zk&)J: X =49 =_3
Find the area of triangle ABQ.
7 2% biohl kol e A b
~ab 4. KO A =AFEOES(AORD)E KD 2S WV,
Find the height of the following right triangle.
bR b WhEE b
(2)TJABCD @ [H ff 2 K X, |(2)TABCD @ i fi & K o K, ?ﬁj%iﬁ A E
Find the area of square ABCD. -
( ) 13::1| 25 Jx
a+ b X |
A 12 A 24
WA WhEE b
(3)JPQRS @ﬁﬁ%:k&b X, |[(3)TIPQRS ® mIfEi & Kb L,
Find the area of square PQRS. /32: /22+ X
2 x? = 73*—72°
@M@, OO, &E = 769— 144
bh bbb Hob
a b EHVT %, a b HVT % ¢, .
Express c2 using a and b
from (1), (2), and (3).
x>0 &7
(a + b )2
x = 4/ =5

o Hroh Shho i} T~

2 2 2 X S A 0
¢ =atb 5. ko fi = AT OKDE KD A S,
Find the base of the following isosceles right triangle.
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2. VXTI AMEERT D FoERt X, o e s
Make a table that creates the Pythagorean numbers. 1 Hl
3 n2—1 nZz+ 1
k) | L e N, A,
#-1  9-1 #+1 9+1
3 2 B 2 2 B 2 x x
_ 8 _ 10 2_ 2
=——= 4 === 5 4= 3%+ x
2 — y2 2
5 52— 1 52+ 1 X G
2 2
= 76—9
=7
7 x>0 &9
X = /7
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1. ?41275)0ﬂﬂ@7775)a b HE A=Al ArabET 3. ko H 4= 2@?4@72*@7251/\
%%( Lf%{"‘:‘ 3L X0 ’C/@ 51 Find the hypotenuse of the following right triangle.
/ — = o
Answer when you make a figure combining right-angled triangles R Bl SATL
whose hypotenuse is ¢ and whose other sides are a and b. & H E
i i
oi vz > Vi1
(1) lllﬁaﬂ‘/ ABCD o> ifi B % (1) 14 £ % ABCD o ifi it %
bbb Lo W & 5 5
¢ VT &, £ 7% PQRS O 1H ff &
e Shhodl  BAEE P) P)
p ¢ o 450 =4O 5O = 52+ (27 )
/ b '6%
et fme LTRD &, 25+ 24—149
c |S\ a Q| ¢
\ "Ny | 0 &
5 x > Y
A c— B x = \/W :é
cxc =c’ oF  bromSAhoUL R Ehaky b
4. KO A =AFEOES(AORD)E KD 2S WV,
e ax Find the height of the following right triangle.
2) (1)@.31:/%/}(@"1: ox! neEn bAEN
i| ’H =] E
#E%L*ézf:o e
WA E bbb
A 24 ' AT
\\\L T o0 é/u/:om
/ / &@io %@Lt
b WA E .7C2 — 252*242
~—5 = A% a,b T i% H,
rrrrrrrrrr a-_ _b._ = 6256—576
axb)x2+(a—1b) 2 b _
(axo)xo(a—of | 4[> o
=2 ab v
a a x>0 &
+a'—2ab+ b’ .y
- — — / = 7
= Cl2 —+ bz ......... a b ¥ #9 -
ek broml ol T ~A
5. kD H A=/ Z@Kﬂ%*®f£éb\
3) (1), (2)4: v, 2 % a, b (3) (1), (2)4: v, 2 % a, b Find the base of the following isosceles right triangle.
bhob bbb W =
ERWT # 4, EHOT % . i B A R
¢’ =a’+ b’
29 21 5 4
X X
29%= x*+27°
79 R E ) it
2. t5’372§&%1’ﬁﬁkﬁ‘é%%mﬁkﬁi %2 = 202 972
Make a table that creates the Pythagorean numbers. B
mln| m-—n 2mn m” + n® = f4T— 447
22 — 12 2x2x1 22 + 12
2 1 3 Y 5 = 400
32 —12 2x3x1 32 + 12
3|1 ¢ 5 70 x>0 kY
3 | 2 x =400 = 20
4 1
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1. ﬂﬂﬂcfm@ﬁﬂabafﬁﬁ ﬁﬁ/ﬁﬁ&ébﬁf 3. ko H :ﬁi%ﬁ%ﬂ%*@@éw
Tﬂk‘f % ﬁ':‘ 3L X conT /@ s Find the hypotenuse of the following right triangle.
7 — = o
Answer when you make a figure combining right-angled triangles R Bl bA LY
whose hypotenuse is ¢ and whose other sides are a and b. & ik E
i
- ! 4 Y 1VR0

x? = (\/37)2 + 47

= 33+76=49
)% % ADEC o i Fs % x>0 &Y
b
A E D%
(1)DABCD o 7 % sk & I | R & X =9 =7
( a+b )2
k-1 t):ofmg/:ou T~k
4. XD H ;ﬁéwﬁﬂ%kbﬁém
WARE  bL WARE  bL Find the base of the following right triangle.
QAAPS D I FEZ# RO K, | (2AABC O [ & R b L,
nn En HA TN
f5il /E g
—Lab
2 41 Jg
29 X
X
i E WA HE
@Dmm@ﬁﬁ%kbi QMME@ﬁﬁ%*wio 21
47* = 2’97

c?

= 7687—81=17600
4 (@), @), (3)=§t v, 2 (9 Q) @), (3)=§t v, %

Hob HoHb
ab T # . a b EHNT # . x>0 &9

(a+5) X = 1600 =_40_

:(324-%&5)(4 2% bromd&hmo
5. kD H 4 =1

T~

@Kﬂ%kbﬁém

Find the base of the following isosceles right triangle.
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Make a table that creates the Pythagorean numbers. P P
s | 42+ 45— 3 8s + 4 482+ 4s+5 Pl 424 2
4x12+4x1—3 8x1+4 4x124+4x1+5 PR
x? = §°—6
1
= 64— 36
= 2¢
2
x>0 &
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Tllustrate the sides of a right triangle. Find the base of the following isosceles right triangle.
nwrEn bA N v v bA N
i H i R
Lo~k +oL Lo ~h +Fou 9 3
PRRERTE PR 41111 ‘ziiijl
Hypotenuse
X X

22 = &+ 77

L \
(P i
L]

S)
s
(<14
R
e
S
&
9_|..

E Eoah L x >0 &0
@A@?ﬂ‘ﬂ%ln‘ﬂi’i @ A OxidAE MR X,
Opposite side of A X = /3
A A 1]
?%“ LLohl Shhol} L/ Lo ~h SF b r o S o il T U~ A b
2. WO f = B ORI E KD RS, 4. RO W -0 E S (A ORD)%E KRS,
Find the hypotenuse of the following right triangle. Find the height of the following right triangle.
A En bA RN av D bAED
i HlkE 15 B R

@x g ) xi2 \/2_i|x . 3i|x
3
1

VB

*

\4

S)

9_‘_.

S

i
=

J
Qo

i
~

£= =1
: L -
x 4
8
3
oF t):ofz<g/:ou/ [N (AR b
L 5. W f— Ao (ADkDL)ERDR SV,
x 3 Find the height of the following right triangle.
_ _ v En bA D
= /6+9=25 {31 R i g

x>0 &7 4:\x 2:\x
A A

X = 425 —_5 x X

o= xtxt =2«
®) ® xz 4
X 2
3 2 xt= 42
6

2 2 _ 42 -2
x? = 3724 22 =76 2 =¢

= 9+4=73 x >0 1"
x >0 kv
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Tllustrate the sides of a right triangle. Find the base of the following isosceles right triangle.
v En bA D v En bAED
i & i R
Lo~k Lo~k R
@?Jmﬂ%ln‘ﬁi O %= K RE X, 4 J1 ﬁ1
Hypotenuse
: X X
y* = ¥+ 77
T~ T~ + L
@EEJE%./TH:J: QJEH % KRE &L,
Base x? = 42 /2
L] A = 76—7=75
v~k [NENY F oL
@A@ﬁaﬂ%.ﬂ‘ﬂi‘io @ A O %l & KRt X,
Opposite side of A x>0 fn x = //5
AL A A
ek H Lol Ehho T L ~h :)ér“ b Eohl éi/ﬁ”)”]«/\ em 7}_‘4\:\/1/ b
2. kO H A=A ?Jrﬂ’i’?k&)iﬁéb\ 4. RO H A= A0 é(A@xa‘ﬂ)%rﬂwbiﬁéu\o
Find the hypotenuse of the following right triangle. Find the height of the following right triangle.
A En bA RN e En bAED
i il & i &
Y/ v el
8 A 40 A 24 '
3
x? = 37447 47* = 40%+ «*
= 94 74=25 x? = 47*—40?
x >0 &0 = 7687—7600=1¢7
T = VI =2
®x @ «x 1
V27
V3
3 :)ér t):ofz<gnotbl AR bt
5. Ko =AY 0m S (A0 RD)E ki,
X2 = 3 2 4 ( \/ﬁ) 2 Find the height of the following right triangle.
i i
= 94+27=36 s
gr V2|
x>0 &7
A X A X
x= V3 =
(V7)) = o'+ 2 =2 &
©) ©) , ,
i Y v
3 5
= () +2
x = 3 ()
= §&+2 =4
= 9+7=76
x>0 &7
x>0 &
x= Vi =_2
x= Vg =4 -
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Tllustrate the sides of a right triangle.

nwn 7w

HA T

i i E
Lo ~A Lo~ T oL
@aﬂﬂ%ln‘ﬂi’i ORHL 2 KRE X,
Hypotenuse r‘ L
T~ F oL T~ FoL
@& & Mo X, @K & KR Xk,
Base

iy

(AR

@ A, B@xTaﬂ’ElTﬂi‘J:
Opposite side of A, B

ARV T oL

@ A, B Dxbinz MR X,

VAR

2.

A ) B
oF t);oﬁ<éiﬁo(b Lo~
RO H = 2@?412%*&)716%1/\
Find the hypotenuse of the following right triangle.
A En bA RN
i il &
@ @
o a4
5 2
= (77 )+ 5
= J7+25=36
x>0 &7
AT
@ @
X 3 x: 1
5 2
x? = 3%+ 57
= 94+ 25=34
x>0 &7
X = \/34
© @ x: 5
X 8
12
6
x? = §1+467
= 64+36=700
x>0 &

oF Lronl ko T~k
KD H f = é@ﬁﬂ%*&b@éb\
Find the base of the following isosceles right triangle.
v £ bA D
5l BE R
\/2_£ , «5—1 ,
X X
(2 )= o'+ /7
x2 = (7 ) =1
= 2—7=7
x>0 &

oF b Eohl gu/:om/\ (SN 7}_14\?/1/ b
WD A E S (A DXE)E kRSN,
Find the height of the following right triangle.
A £ bA RN
i &
7 X
3 x
A A
N V24
3=t ()
x? = 30 (5
= 9—5=14
x>0 &

0¥ bronK EAhoBL Ep [ANENY
Ko =T 0m S (A0 RN E ki s,
Find the height of the following right triangle.

A D bA RN
i &
A X A X

§7 = P+ x =2 x
2 xt= ¢?

= 5t =2

= 64 =2 =32
x>0 &7
X = 4/30 =4V
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Tllustrate the sides of a right triangle. Find the base of the following isosceles right triangle.
v En LA ED v En bAED
i H i R
Lo~k Lo ~h +Fou
@a@mﬂ%ln‘ﬁi O#HL 2 Krt L, 6 3 6 9
Hypotenuse
6°= 3" +x
Tk + oL T ~A + oL
Q@ EL M rE L, @JED % KR &,

Base

) J

N/

(AR

@ A, B@xTaﬂ’ElTﬂi‘J:
Opposite side of A, B

[

AR L

@ A, B Dxbinz MR X,

N4

2.

oF Hr o n<

83

D Lo ~A

Ko B = Ao ERD RS,
Find the hypotenuse of the following right triangle.
v bA WD
15 B il &
@ @
x i Vi Y Viz
7 2
x? = (V75 )2%—72
= /5+49=¢64
x>0 &7
*= by =8
@ @
X 1 x: 2
V3 V21
v )
= 7/+3=4
x>0 &7
=V =2
© ©
24 15
x? = 724247
= 494 576=625
x>0 &
X = 4/625 = 25

Il
Qo
o~

J
~o

Il
)
~

[ ARV

S0 S (A ORI )E KD A S,

Find the height of the following right triangle.

b

B

pus

vo= V)
e
= /6—7=

x>0 &0
x= b =8

»
K

SF  bronShhodl  kh [ANENY
Ko =T 0m S (A0 RN E ki s,
Find the height of the following right triangle.

A D bA RN
i &

s )
A X A X

6 = x*+xt =2 «x
2 xt= 47

x'= 47 +2

= 36 =2 =7¢
x>0 &7
x= iy =




